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B.kdB.km
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dt
dB −=

����� � ���	
�
����� � 
�������
����� � ��
���
����

��

��

�

������������

kd
km

������������������
������
��

 �����������	�
���
����
��
�
 �
������������
���
���!��������	��
�
���������!"�������
��������

������
���

=RR0



��������	��
����
 8

6�����
��
�������
��
�����������4�
���������
�����
�������
�������������&&1�� &&13)9

���#$%���� ���	
�
���#$%���� 
�������
���#$%���� ��
���
����

( ) B.kdB.km.INH1
dt
dB −−=

ICIC
IC

INH
50 +

=

( ) RR0.INH1RR0INH −=

kd
km.INH)(1

RR0INH

−=
��

��

�

#���!�
��

#$%



��������	��
����
 :

���������
�����
�
�������
����������������������4�
�������
������
���+���4
�
���&�������
����#�������3���4�
��
�
	�����
��
����0&#3	2

RR0.INH)(11RR0INH −==

&
�����!�
������������
��'�

�
�������

RR0.
ICIC

IC
-11

50
��
�

�
��
�

�

+
=

RR0.
ICIC

IC-ICIC
1

50

50

+
+=

RR0
IC

ICIC

50

50 =+

RR0
IC
IC

IC
IC

5050

50 =+

1-RR0
IC
IC

50

=

( ) 50IC . 1-RR0IC =

(����
��������"

���
�������

( ) 50IC.1RR0RMIC −=



��������	��
����
 ;

*������
���������������������93*�����������������'�<��
�
����4��������
��������
������
 ����������0"�
=��*��
����2

)*&#(�+���+�,-./0�0+�1���2

Target cell (activated CD4+ cells):

dT/dt = b – d1⋅T – i⋅V⋅T
Actively infected cells (short-lived):

dA/dt = f1⋅i⋅V⋅T – d2⋅A + a⋅L
Latently infected resting cells (long lived):

dL/dt = f2⋅i⋅V⋅T – d3⋅L – a⋅L
Infectious virus (copies HIV-1 RNA):

dV/dt = p.A – C.V

Activated Target cell    +    Virus                          Actively infected cell

Latently infected cell

Persistently infected cell

Defectively infected cell

Virus production
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Activated Target cell    +    Virus                          Actively infected cell

Latently infected cell

Persistently infected cell

Defectively infected cell

Virus production
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!Target cell (activated CD4+ cells):

dT/dt = b – d1⋅T – (1-INH)⋅i⋅V⋅T
Actively infected cells (short-lived):

dA/dt = f1⋅(1-INH)⋅i⋅V⋅T – d2⋅A + a⋅L
Latently infected resting cells (long lived):

dL/dt = f2⋅(1-INH)⋅i⋅V⋅T – d3⋅L – a⋅L
Infectious virus (copies HIV-1 RNA):

dV/dt = p.A – C.V
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Target cell (activated CD4+ cells):

dT/dt = b – d1⋅T – (1-INH)⋅i⋅V⋅T
Actively infected cells (short-lived):

dA/dt = f1⋅(1-INH)⋅i⋅V⋅T – d2⋅A + a⋅L
Latently infected resting cells (long lived):

dL/dt = f2⋅(1-INH)⋅i⋅V⋅T – d3⋅L – a⋅L
Infectious virus (copies HIV-1 RNA):

DV/dt = p.A – C.V
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